PN A T e RPN N g vy

158 ey é i " f -J-_
'NJ“ l"l"t’iht&“{'ﬂf, l']ﬂ rl}ll(’WI“E ST ]! ‘*ﬂ(! h .__5_~. rr

iy
oy

To read the value ol a car
| to be of great help : - Vife
| it i e ad Wil gt
kg OY Greal Brilain Very (500 | o

o lotters in the abov @& _  §

e bold-face letters 1In | o O : 11

G 'mcrir h\V) correspond 10 the colours Blﬂf..k‘; B”)?'l/'?l* _R.f;i;l”:;“g:; Y
Gr;cn Blue. Violet, Grey and White respectively. 1 nese € , unh

; o - 8 9 for the first two | | 5
4 correspond to figures U, 1, 2,3, 4,5 6 .7’ iy 0°, 10', 107, 1 3bﬂﬂdg Al
and B) and correspond 10 multiplicrs l.) i 0, m‘i a8
10° 107, 10*and 10° respectively for the colour of e
colour of the fourth band is gold, the tolerance 18 7 a{ld In case the gq i §

%. In case, there is no fourth band, they . §

F-:';-. -
oy, S
I_J'" i -
4. Wl

! 1”.| Ty
[

s B

-

1 .
’ 'l .
" = 1

a g s

L g

is silver. the tolerance is 10%.
tolerance is 20%.
The following table gives the colour code for carbon resista

nee: §
' e

E _L d
o, §

I etier as an aid to
Memory

B
R
O Orange

Yellow

For example, consider a carbon resistance, for Whh Eh w—— a :

: , ¢ Al

jz_-t)m_i L t?re'l()f c?lour? brown, green and orange respectively mm

15 of silver in colour. The value of the resi found fom &1

table as explained below : Sisfance caming found fro

Corresponding to colours of bands A : N

and B, which ar and :

the figures are 1 and 5. Corresponding to the third ba::;’;,_

the multiplier is 10°. Therefore. res; ' L i

silver ‘colour of the fourth band corresp
of resistance is 15 x 10° Q + 109,

2.06. CARRIERS OF CURRENT
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NATURE OF ELECTRICAL RESISTANGE
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2.08. TEMPERATURE DEPENDENCE OF RESISTIVITY

The resistivity of a material depends upon two parameters of the
matertal namely number of electrons per unit volume and the average
elaxation time. If the temperature of the material Increases, the amplitude
of atomic vibrations will also increase and it will lead to greater frequency
of collisions of electrons with atoms and 1ons. Due to this, the value of

average relaxation time will decrease and hence the resistivity of the
material would increase.

In metals, the resistivity increases linearly with lemperature up to
about 500° C above the room temperature.

For moderate range of temperature 6°C, the resistance R of a
Conducfor is given by

R=R,(1+ab),

t Where R, is the resistance of the conductor at 0°C and « is the
uemperamf'e coefficient of the resistance for the material which depends
PO the nature of material. From the above expression, we have

e
-. | R, 6
b Thus, the temperature coefficient of a resistance is defined as the change
fance per unit resistance at 0° C per degree rise of tmpewef .
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temperature coefficient 18 5573
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In case of insulators, the resistivity |
decrease in temperature. The numhcr .
equilibrium at a temperature T is given DY
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